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Mathcad knows Hermite polynomials. Here is the normalized version of ours:

2
=X
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1 4 2 27
¢1(x,0c)::(——) ‘00~ -Her(1,x%)-¢
4

Verified here:

,g,{ﬂ)i”-“J Py(x, )Py (x,00) dx g(h) =1 g(2) =1 g0h) =1 g9 =1
— 00

3 00
J’ 1P1(X50.2349-x2‘¢1(x, 0.234) dx = 0.082 0082 =1.498
- 0.2342
J Py (x, o.1)-(§-xp1(x,o. 1)) dx=0

4 If alpha is in meters, x will be in meters

a, b
C
X
rOQ
70
~0
ii P;(%,0.1)9;(x,0.1) dx = 0.5 We already knew it was going to be split 50/50
- about the y axis.
.. 001 .
11 ’ -
] $1(%0.1%py (x,0.1) dx = 7.478x 10 There is a node at the origin, so there is a low
-0.01 probability of finding it there.
F0.11
v P1(x,0.1)-P1(x,0.1) dx = 0.082

Y0.09



